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Important notes

Qu. 1 faiiar Jaer & 3179 T HHSA & 23 foleh faefir Faiey ToReret faeii warer & fohdf e et
82

What do you understand by financial management ?How does modern financial management
differ from traditional financial management.

Qu.2 fafiT yaer & 3gged faf@u)

Write the objective of financial management.

Qu..3 o fAIISTet o1 T 313 § 7380 T 362 872

What is the meaning of financial planning ?what are its objective?

Qu.4 3TcUFTell U ErEThTellel faa faaeteT & &1 iR 872

What are the basic differences between long term and short term financial planning?
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What is meant by capitalisation? How will you determine the amount of capitalisation for a new
business?

Qu.6 31Tl GoltehoT 3T 3o YeiertoT # e Scl5U|
Write the difference between over capitalisation and under capitalisation.

Qu.7 T 97 & il &l & 3T 4T FHSIA & ?Teh 3T Yolt & & ST Hifelsh 0T gl =1fgw , 3e7ehr
ICEEGE AR

What do you understand by capital structure of a corporation ?discuss basic qualities a sound
capital structure should possess.

Qu.8 e 3T & AT i aRemmsT difare
Define net income approach.
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Define cost of capital.Discuss its significance.
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What is meant by the leverage? what are the various types of leverage? explain clearly.
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What is operating leverage? give formula.

Qu. 12 Yoi Sraifeer s g7 fafarater ot 3 saeht o= s1ffenr &2

What is capital budgeting and what is its role in investment decision-making?

Qu.13 IRR &I TR &I FIT Fhgd 8?2

WhyIRR is called internal rate?

Qu.14 U Cefe I AT P500000 TUT SHHT HIAT Hed Rs. 100000 & $H &1 & I ATH (T8 5
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A plant cost rupees 500000 and has a Scrap value of rupees 100000 its profit before depreciation
and Taxes during the first five years of Rs100000,Rs1200000ne ,Rs140000,Rs 160000 and Rs
200000 .assume 50% tax rate and depreciation on a straight line method.calculate the rate of
returns for this plant.
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What is the meaning of working capital ?Explain the factors affecting the working capital

requirements of a business.
Qu.16 FATS TF TRaeTeiTer SHIRfTer Yail 31 37T SIfaT)

Distinguish between permanent and variable working capital.
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